

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,204,190.05	\$28,946,636.87
Contributions	(\$7.02)	(\$987.07)
Withdrawals	(\$306,788.05)	(\$1,520,278.06)
Transfers In/Out	\$0.00	\$0.00
Income	\$21,892.71	\$80,750.01
Administrative Expense	(\$399.14)	(\$2,355.16)
Investment Expense	(\$638.48)	(\$6,287.31)
Investment Manager Fees	(\$33.16)	(\$1,065.47)
IFA Loan Repayment	\$0.00	(\$22,173.31)
Adjustment	(\$4,255.53)	(\$4,255.53)
Realized Gain/Loss	(\$129.38)	\$27,084.90
Unrealized Gain/Loss	(\$407,353.56)	\$1,009,408.57
Ending Balance	\$28,506,478.44	\$28,506,478.44

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	16.77%	09/01/2022

ZION POLICE PENSION

Fund Name: ZION POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	(\$7.02)	(\$987.07)
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$31.93)	\$178.78
Income	\$38.95	\$808.29
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	3.895	44.049
Unit Purchases from Additions	0.000	15.062
Unit Sales from Withdrawals	(3.895)	(59.111)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit		\$12.112789
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

ZION POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/01/2022

ZION POLICE PENSION

Fund Name: Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

-	Current Period	Year to Date
Beginning Balance	\$9,690.15	\$546,216.10
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$9,525.51)	(\$568,862.15)
Income	\$38.66	\$695.76
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$193.65)	\$17,589.92
Unrealized Gain/Loss	(\$9.65)	\$4,360.37
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,067.922	62,558.537
Unit Purchases from Additions	0.787	183.245
Unit Sales from Withdrawals	(1,068.709)	(62,741.782)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

ZION POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/28/2022

ZION POLICE PENSION

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,194,499.90	\$28,400,420.77
Contributions	\$0.00	\$0.00
Withdrawals	(\$306,788.05)	(\$1,520,278.06)
Transfers In/Out	\$9,557.44	\$568,683.37
Income	\$21,815.10	\$79,245.96
Administrative Expense	(\$399.14)	(\$2,355.16)
Investment Expense	(\$638.48)	(\$6,287.31)
Investment Manager Fees	(\$33.16)	(\$1,065.47)
IFA Loan Repayment	\$0.00	(\$22,173.31)
Adjustment	(\$4,255.53)	(\$4,255.53)
Realized Gain/Loss	\$64.27	\$9,494.98
Unrealized Gain/Loss	(\$407,343.91)	\$1,005,048.20
Ending Balance	\$28,506,478.44	\$28,506,478.44

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,928,212.007	2,994,605.999
Unit Purchases from Additions	973.846	57,379.144
Unit Sales from Withdrawals	(31,267.324)	(154,066.614)
Ending Units	2,897,918.529	2,897,918.529
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

ZION POLICE PENSION

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Statement of Transaction Detail for the Month Ending 05/31/2023 ZION POLICE PENSION

Trade Date	Settle Date	Description	Amount	Unit Value	Units
ZION POLICE PENSION	ON				
05/01/2023	05/02/2023	Transfers Out	(38.95)	10.000000	(3.8950)
05/25/2023	05/26/2023	Transfers In	7.02	10.000000	0.7020
05/25/2023	05/26/2023	Contribution	(7.02)	10.000000	(0.7020)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	7.02	8.919671	0.7870
05/25/2023	05/26/2023	Transfers Out	(7.02)	8.919671	(0.7870)
05/25/2023	05/26/2023	Transfers Out	(9,525.51)	8.919671	(1,067.9220)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(4,255.53)	9.970077	(426.8302)
05/01/2023	05/02/2023	Transfers In	38.95	9.949931	3.9146
05/15/2023	05/16/2023	Redemptions	(306,788.05)	9.947803	(30,839.7794)
05/25/2023	05/26/2023	Transfers In	9,525.51	9.820810	969.9312
05/25/2023	05/26/2023	Transfers Out	(7.02)	9.820810	(0.7148)